TM6FEICHE T2 REZIFERE R

(R6. 12 A BF 51)
BRSHE EERER HE )RR Bel 7 R 2 T EIRRGERR EERER =R
BN BN BN BN BN BN
() MEXEEMBENMEEL TLHEREH 642 319 85 66 69 50 53
(b) ABREEEIM 5 DERE 520 268 62 60 46 41 43
C 418 222 56 50 40 20 30
ERNARRER#E 360 215 46 29 30 15 25
EN AR ERHE 58 1 10 21 10 5 5
Xz 102 46 6 10 21 13
ERNARER#E 83 44 5 16 9
B AR E RS 19 2 1 5 2 5 4
(c) ABREFREBIM 5 D EHE I 122 51 23 6 23 9 10
C 14 29 13 5 14 6 1
ERNARRERHE 56 28 1 2 10 3 6
EN AR ERHE 18 1 6 3 4 3 1
Xz 48 22 10 1 9 3 3
ERNARERHE 39 20 1 1 5 3 3
B9 AR E R 9 2 3 0 4 0 0
@ BREZEEREHEE (b/a) 81. 0% 84. 0% 12. 9% 90. 9% 66. 7% 82. 0% 81. 1%
ERAREREELN SERNH - -EIE 82. 3% 84. 4% 18. 5% 91. 9% 69. 4% 83. 8% 79. 1%
ENAREREELN SERNH - 1-EIE 74. 0% 75. 0% 55. 0% 89. 7% 60. 0% 76. 9% 90. 0%
-1 ENEEOAN. ERAH =BG 85. 0% 88. 4% 81.2% 90. 9% 14. 1% 76. 9% 81.1%
@-2 EXEEEOA. ERAH =BG 68. 0% 67. 6% 37. 5% 90. 9% 40. 0% 87. 5% 81. 3%
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